
Teст 

Вставьте в пропуски каждого предложения слова или словочетания, 

подходящие по смыслу:  

a) office work  

b) pragmatic approach  

c) financial control  

d) particular responsibilities  

e) problem solving  

f) R&D Manager  

g) driving license  

h) computer operator  

i) night shift  

j) creative individuals  

k) interest  

l) influence  

m) income  

n) to spend  

o) economy  

p) products  

q) consumer  

r) manufacturers 

s) resources  

t) businesses 

u) retirement    

v) unemployment 

w) generation 

1. She’s an ………… of this team. We can’t do without her.  

2. You get more money if you work on ………….. but it ruins your social life.  

3. He had a very ………… to solving problems.  

4. I didn’t get the job as a driver as I didn’t have a ………… . 

5. My ………… are health and safety but I’m also concerned with the general 

welfare of employees.  

6. ……….. is a person whose profession is to operate a computer.  

7. They made these things by means of skill and intelligence. They are very ……….. 

.  

8. My …………. is to do important duties in the office.  



9. Can you find approach to …………. ?  

10.Who takes over ………… for this project?  

11.Most people earn their .……… from the work they perform.  

12.Some people also receive income by renting or selling land and other natural 

……… they own, as profit from a business or entrepreneurial venture, or from 

………… paid on their savings accounts or other investments.  

13.In a market …………, the basic resources used to make the goods and services 

that satisfy ………. demands are owned by private consumers and households.  

14.Payments or incomes that households receive for these resources rise and fall – 

and that fluctuation has a direct ………… on the amount consumers are willing …… 

for the goods and services they want.  

15.Whether consumers are young or old; male or female; rich, poor or middle class, 

every dollar or pound they spend is a signal – a kind of economic vote telling…….. 

what goods and services they want to see produced.  

16. Consumer spending represents the basic source of demand for …………. sold in 

the marketplace, which is half of what determines the market prices for goods and 

services.  

17. The other half is based on decisions ……. make about what to produce and how 

to produce it. 

18. In France the  ……….. age is 60, not 65 as in most developed countries.  

19. The main reason is that in the 1980s, when there was high ………………., the 

government promoted redundancy programs.  

20. That entrenched the idea that older ………………. were less productive. 

 


